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~“Who is associated with the invention
of Nylon?
(A} Louis Pasteur
{B) J. Nicephore Niepce
(C) John Corbutt
(D} Dr. Wallace H. Carothers
AGAH F R 4 Tafaa 27
(A) T mam
(B) . FrEEEN frug
(C) i wide
(D) 1. a1¢| va, 0w

Which of the following folk/tribal

dance is associated with Uttar
Pradesh ¢

(A) Veedhi (B) Kajri

(C) Tamasha (D) Rauf

FofeiEa 4 4 =4 o1 /599

4.

5

Which of the following taxes makes
minimum contribution to the revenue
of the Government of India ¢

(A) Wealth tax

(B) Income tax

(C) GST

(D) None of these

fifefiga § @ & 91 5 WA TEE F
e § 2Eas A el 2 7

(A) Hufd &t

(B) AW

(C} Humdt

(D) 4 & HIE A

In which state is the Kalpakkam atomic
power station located 7

(A) Tamil Nadu

(B} Andhra Pradesh

TR I ERar 7 f(C) Kerala

() fife o st LT W) oons |
Name the king of Kanauj whose (A) AEETE (B} 39w
daughter Samyukta was abducted by (C) #= (D) Fw

Prithviraj Chauhan from a
‘swayamvar.

(A) Bhoj

(8) saichand

(C) Jayadev

(D) Lakshman Sen

FHA & T H AH "ane ed 48
e w1 et <fte 3 o e 3
e ¢ feran o |

(A) = (8) =g

(c) wrrea (D) wEwET

&f‘:ﬂ.ﬁh

NITI Aayog has partnered with which

technology major to train students on
Cloud Computing ?

(A} HP (B) Amazon
(€) Samsung (D) Huawei
i M 3w wgfin w wE 5
wiItem %=1 F foe fag SR TE
& 9 qrfiedf R 2
(A) w=di (8) 3Rl
(C) Bmam (D) g
2321
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Which is known as the ‘Garden City’ of

india ?
(A) Srinagar (B) Bangalore
(C) Mysore (D) Vadodara
% nda 8 & Rl fRu we
aad 1 GAMBL = E BAICM(
(A), HH (B) Fre
() e (D) FEREU
WeATER
g~ Kabir was the disciple of
(A) Ramananda IQF‘BU
(B} Ramanuj
(€) Shankaracharya
(D) Manak
T T e 9
(A} THHE (B) THTTS
(C) ST (D)
9.~ What is the Name of the indian Space
University 7
(a) Physical Research Laboratory
(PRL)

(B) Indian Institute of Science (115¢)

(C) Indian Institute of Remote Sensing
(IIRS)

(D) Indian Institute of Space Science
& Technology (115T)

gy sahw faefamey & 95 ™

27

A) sifes  FEEOR SR
(fraamuee)

(8) el s wE (SdseeE)

) widm foie  Htm AW
(FTEHIEIATTH)

(0), Wiy e fawm S shenfit
HET (IR )

; B T AR b

{ Arrange the given words  in

alphabetical order and select the one
that comes fourth. g
fou q wdl Y A aafed !
ﬂﬁﬁmmgﬁﬂr&mﬂwﬁ |
nNobble,
M

Nomenclature, Normal,

Nostril, Nocent

(Aly Nostril

() Nomenclature (D Nobble 1, e )
ot by

—
Hav el ﬂw :@ Lble. -
29 - 18 -1 Tde mgn&ﬂq ¢ / H"’JH{'_,

(A) 21 (B). 29
(C) 31 (D) 24

(8). Normal

@ Looking at a portrait of a man, Shilok
said, “His mother ic the wife of my
father’s son. Brothers and sisters |
have none.” At whose portrait was
Sanjay looking?

(A) Hisson (B) His nephew
(C} His cousin (D} His uncle

ws =i % fae w1 2Ed B, SATE
&, wgrefy wyrert B o @ A e B
s g o e A R 1w Reash
faH@wmm?

(A) T AL (B) 3%k Wl
(C) AH == AE (D) I T

13./4&1; 6:20, the hour hand and the minute
%0 ¥ =ig.hand of a clock form an angle of |

[ fg l;A] 65 degree (B) 72 degree
i (C), 70degree (D) 82 degree
o 620w, wh o ww ) g e e

£ 8w oy e

(A) 65 feslt 8) 72 %h




1477 If in certain language GAMBLE is coded
as EBNCMG, how is HEATER coded in
that code?

gfe faeft Taffas ww & GAMBLE )
EBNCMG & &9 3§ +ifta fem s 8, @1
349 HIE H HEATER &) %@ wifta e
ST 7

(A) RFBHEA
(C) RETAEH

(Bl RFBUFH
(D) RBFUHF

Find the missing number in given
series following the same pattern.

w1 2 T IR F g & e
T TR HEA sira i |
5,11,21,43,(?), 171, 341

(A) 50 (B) 73

(C) a5 (D) 144

@

E/

Kunjan, Lila, Mehul,  Nikunj, Om,

privank and Rani are sitting on a_
circular dining table for a dinner, Rani
is not between Priyank and Mehul. Qm
is nelghbour of Kunjan and Nikunj. Lila
is second to the left of Rani. Priyank is
to the immediate right of Kunjan. How
many members are between right of

Privank and left of Rani 7 E _

g, wlten, Bgd, P,
S T i i & o s AiteTER 4
g 82§ | oht, i oil ge & dw
T8 R | 30w, g s Frabet w1 g 2 |
o, A % ard & et T W R
fovaon, s 5 gt i Aar ) v %

71 it AR % amd ¥ o fpat mEm A 7
(a) 1 (B) 2
(© 3 (D) 4

Choose the Venn diagram which best
explains relationship among given

items :

A9

}‘”'-fk__l'r

E/Apmn moves in nﬁrﬂiﬂmtw. H India, Gujarat, Vadodara

7 km, then tums left and moves by 4 |vy , 3% 3@ 94 51 & v wegaif & vy i

km, again turns left and moves by 9 {2\ \ I W8 =i e & T &:

km, again turns left and moves by 4 % \/L,? Wqﬂ‘i"fff,'ﬂ'ﬂ'ﬁﬂ

km. How far the person is from initial fr’f __ r'_‘j;; @

position ? el (A \‘:_’J_tj" (8) C OO

(A) 2km (8) 11km o~ —

(C) 13 km (D) 16 km TMH (C) '“193( -~ (D) '[?FE; _j

ueh sufer I fan & 7 frdt e 2, R e

wﬁwtm‘imw—ahﬁ 19."'1n how many different ways can the

and gear ¢ 3k o feft e 2, R @ letters of the word “CENTRE” be

ad wea 2 3 4 el wem 2 ) Tarranged?

s P 2 & e g 27 e e e
_ ol 2 e el & srafem e wrasad 7

(). 2 fert (8) 11 fefi % (A 720 & 5

© Bt (o) 16fm 7{‘@ © 180 D) 360

|‘..'I

Y



2]

m"/ﬂnd the area (in cm?) of a rhombus,
whose diagonals are 12 ¢m and 18 cm

respectively. :
e FEEE o 1 Qs (@] #H) i) i

e, forads faeol waw: 12 Wh 3l
188 R | ﬁ_

(A), 216 :
() 108 A6

() 54
(D) 162

£.13

0,213
= "_F-‘lthE'nI:-ll
g

AT 2.13
.q_ﬁﬂ...ﬁ — - '-Eﬁ_],'n?

21.3 X
(A) 2.13 (B) 21.3
(D) 0.213 |

{C), 213
_r-""'r.—".

: 2 4 14
Find HCF of S

(2/3,4/9,14/3) T HCF I
(A) 2/9 (8) 4/9
€ 7/3 D) 2/3

A bus moves along the four sides of

22,

-

'

IVThe difference
/7 compound  interest

annually on a certam
for 2 years at 5% pef annu

The sum in T is, _
UERELE T oy ur 5% sife ad #) @ 9 2

d%’rﬁqquﬂm#thﬂaﬁﬁ

wra A HET S &.Tﬂg”

raoR 1 eARL V- ‘r’-'{
\pg~ (A) 16525 (B) 1E-1_|gt:|'°;~.j‘W '

2L (C) 16205 (D). 16000 7|

sum of money
m is T 40

..f';:ﬂ b

2 i an AP, first term = 69, commaon
\,Lﬂ}(gfferencs = 7. Find the sum of 14

G Vipfns.
nﬁiﬁmiﬂﬁmmﬁg.m
it = 7 3, @1 14 78 &1 20t @ A |
(A) 1705. (B] 1892

(C) 1603 (D) 1552

A can do a piece of work in 10 days. B

square at the speeds of 100, 200, 200
300 km/hr. Find the average speed o
the bus around the field in km/hr.

U &H Us @ & 9wl AR 100, 200,

200, 300 ffiae i nfa & Sad 2

fleq & oW st @8 6 3hwa T |
Tamft ez 1w i

(A) 171.43 (B) 176.35
(C) 178.29 {E{l 180.46

A shopkeeper earns a profit of 5% on
selling a book at 3% discount on
market price. Find the ratio of the cost
price to the market price of the book,
U A O G H A e W
3% o1 @2 W AT 9T 5% 1 T Ala
A R yEe & W T AN e
# e ma Hifen |
«(A) 91;:100
(C) 105;97

(B) 100:91
(D) 97: 105

j&i_ﬂieﬂﬂf can do it in 5 days.
" ‘g Hgﬁrﬂe and C together can do it in 4
_In how many days ‘B alone can

complete the same work?

ATEsE B 0RA AT aEsa 2 | B
3t ¢ T & 5 ST A & w=a R
safs AR c e a A 2 &
gt ¥ 3 v ot v - e R
g asat 7 ki)
(A).12 -2 8 205t 5
@gs _y O 13a4c Y
On

28B. ich th
GE d‘ﬂpﬁn@
3 (A) Wave theory
1.
. / !

(B) Particle theo
?Z $pa el =ie
Hd)

(C) Both (A) and (B
jr.e (D) None of these

:‘“"  yof fre frgia w
7

(A) i frgia (B) = faem
() (A) 3 (8) A (D) w0t & Bl
N

¢ o J&al




29,

31.

-

Microscope was invented by

(A} Z. Janssen (B) Millikan
(C} Soldz (D) Foucalt
HrgF e % Ffemssn foma o

(A) #e. w=Ed () e
(C) | (D) BRHIFE

Voltmeter measures:

(A) electrical potential difference
(B) current

(C) resistance

(D} None of these

dieediet O w0 %:

(A) faga fawarm (8), forga oo
(cy iR (D) & & S

which of the following statement is'

true regarding the aluminium ?

(A) Aluminium hydroxide is
amphoteric in nature, :

(B) Aluminium exists in the Free State
in nature.

() Nitric acid does not react with the

aluminium.

(D) Hot and concentrated H,SO,
directly react with oxygen in
which SO, gas is released.

vegfifran % day # frafafea d @ 9

| HUE E 87

(a) TP TegleaEs @
Iygudi g |

(8) uafufEm wHfa & gw sEem #
EiE A

(€ mRw e uyfifen ¥
sffrm ad s ? |

(0) T 3k WA H,S0, ST %
Ty o Al s @ R so,
g Peedi 2|

32. A small positively charged part at the

centre of an atom is called:

(A) Nucleus {B‘::I :2:::"
Electron (D) Pr

ﬁnﬂ ¥ &z 1 fua ve v wAERTE

I Rl &

(A) AfEeEH (B) =ggH

(C) woHaH (D) Wi

33.*’“’" The metal which is an important
constituent of lime stone:

T A T e ] G Rl e
(A} K (8) Na
(©) Mg (D) Ca
34. Which of the following hormones Is a
steroid 7
(A) Estrogen (8) Glucagon
(C} Owxytocin (D) None of these
Preiferfaa § & =5 9 gl 2ias 87
(A) U (B) TETIH
() iR (D) wHAPRAE
35.- In which part of the body, digestion of
large part of protein takes place ?
(A) Stomach (B) Mouth
(C) Intestine (D) None of these
T & |2 WM w1 9rEA v & feg am
dEme 7
(A) , AT (B) HE
(c) fa (D) ¥ & wré T
36" Which of the following have Alpha
keratin as protein 7
(A) Blood (B) Eggs
(C) Skin (D) None of these
fifafian d @ el 99 §$ =0 &
IEH A B R 7
(A) T m],’ e
(), == (D) ¥ & =rd =l

2311



37,

38,

41.

2321

English Language

identify the correct Synonym of the
underlined word:

King Leopold had quite a barbaric
personality.

(A} Clumsy

(Bl Royal

(C} Brutal

(D) Drunk

Identify the antonym for the word-
Blur

(A}" hit (B) sharp

(C) bounce (D) fit

Choose the word which can be
substituted for the given
words/sentence:

One who is honourably discharged

from service

(AL Emeritus

(B) Belligerent

(C) Excommunicated

(D) Truant

Choose the correct preposition to
complete the sentence :

Please don't talk erally. | require your
complaint writing.

(A} by . {B)ein

(C) on (D) to

Choose the correct article to complete
the sentence :

One should appear calm in
interview even if one feels terrified

(A} a
(B} an

{C] the

(D} No article is required

42. Which part of the following

43.

senience

is incorrect ?

If she had worked hard, she could had

passed the exam.

aq{A) If she had worked hard
_{B) she could had

(C) passed the exam.

(D) Mo Error

Fill in the blank with the correct form
of verb :
When | went to the university, |

at my uncle’s house.

[A) stayed

(B) Will be staying
(C) am staying

(D) will have stayed

Choose the correctly spelt word :
(A) Acceptible

(B} Aceptible

(C} Accaptable

(D) Acceptable

Choose the meaning of the italicized
idiom used in the given sentence.

| hate my boss because she always
tries to be a backseat driver,

(A) person who wants to do things by
herself

{(B) person who falsely accuses others

(C) person who gives unwanted
advice




& v
s, ‘TWEa we | wE-H YRE e R 7
(A) *.
(8) 3fta
() 3
(D) sitan

877 ufig @ at-famm -
(A) WET + §<
(B) WE + %%
(C) WIEl + &
(D) Hél + &=

28, ‘&é 6) Ayl o Wi & e 3§ v )
Afeet udl ¢ (" A W HH-T N A
27

(A) =% o avl a
(8) . WitA % 7 A
(€) e <
(D), atfeal v off |

a9 ‘Frardw’ frm anm %1 JeTET } ?
(A) &g w
(8) IremdivIg wATE
(C) oY% 99|
(D) T wwra

s0. e ddfrmysHradfadi 7
(A) EefEE
(8) Sl
(C) HrEe
(D) R

51.” ars w2 ) = R | A -
FASH B 7
(A), FENTH HEPT
(B) ¥ HETHI
(C) TH FEABR
(D) IEIE AR

€y Py A & i~ e s AH & 7
(a) . wiH
(B) wqaY
(C) @
(D) ‘Pt

63, gR e sl B e T | e T IeE
R-
(A} Taenaaras ane
(8) WeEATH® 419
(C). WHETHS AT
(D) F=dIETH® didd

SatY & v 7 spivam =il @ -
(A) u, @
(B) ®, &
(C) an, 3
f.n,'; 3, 3

55.~ A Website's front page /main page Is

called

(A) Browser Page (B) Search Page
(C}) Home Page (D) Bookmark
U JETEE H W9 I /peH T el
2

(A) ST U (8) & A

(C) BmMYS (D) T

31



56.

57.

58,

Which of the following is a correct
format of Email Address?

(A} name.website.com

(B) name®@website.info

{C) name@website@info

() None of thesp

et 6 | = ), -0 v ) s g
gy g 7

(A) name.website.com
(B) name@website.info
(C) name@website@info

(D) %W B Wi 78

Which of the following should you do to
bring a bullet back to a previous level?
(A) press the SHIFT + TAB keys

(B) press the SHIFT key

(C) press the ENTER key

(D) press the TAB key

T goie il 999 Ugel & @ W o &

foru s 1 @ smoes) w1 s Tifv ¢
(A) SHIFT + TAB il gamd

(B) SHIFT Sl aamd

(C). ENTER il gard

(D) TAB &ft Zamd

What is the meaning of Bandwidth in the

terms of Internet ?

(A} Width of the data cable

(B) Amount of data transfered

(C) Number of the computers on a
particular network

(D) None of these

R T hE o a—

(A) 321 e $ gy (Ster)
(B) 21 3w ) "

(C) o fafire Seash w weged 4 wen
(D) ¥ 8 I T

59. How many times hair wash is needed in

6l.

a week ? o
") 2 ) 8
(€) 1 l:D} daily
e TR 7 et &R AT G AT

;
(A) 2
() 1

(B) 3
(D) efie

in a double process blond procedure
after rinsing the lightener and checking
for scalp abrasions you should :

(A) style the hair

(B) tong the hair

(C) apply henna

(D) mix and apply the toner

U T9A NIed w8 WiHAT § e #i
g1 3l PnEcs @UaEl (Shed wiEE)
1 519 F 7e ATH! = FE Tife:
(A), ETEA] T WIEA

(B) & & 2T

(C) HEdi e

(D) ZWR e 3P wmd

e

Which of the following angles best
represents low projection ?

(A) 0-45 degrees *

(B) 30-60 degrees

(C) 90-180 degrees

(D) 180 to onward degrees

= 432 o @ s B wimm
(SStrT) %1 wad) sremt wfafiftre
®?

(A) 0-45 feft

(8} 30-60 ferft

(C)" 90-180 faft

(D) 180 % 3w i ff



B2.

B3.

Join Telegram Group

When should the sterilisation of tools
take place ?

(a) end of the day

(B} once in amaonth

(C) at least twice a day

(D) after each client

SRl & TOUEH w9 B i |
(A) Res wad

(B) WAR H UH WH

(C) Radsmasngan

(DF ST UTES & 918

What is the main efiect of temporary

colour on hair ?

(A) It takes the natural colour out of the
My

(B) It coats the outer layer of the
cuticle

(C) It absorbs the colour into the hair
shaft

(D} 1t makes the hair dry.

aTE o srevel 0 W) yee e w0 R 7

(A) =z wTe A wipfas o e R )

(8), a8 ®hea 6 wEd wa B W
e |

() ¥ ¥ R A W # =i
AR |

(D) dR = W g wa R |

What is the technical name for the study
of skin including its structure, functions
and treatment ?

(A} Ethology (8) tomy

(C) Pathology (D] Dermatology
T H1 396! HeaA1, HEl I ITER

uied ST 1 a6 T R 7
(A) TR (B) AR
() Hereish (D), B

65.

6b.

The outermost layer of the skin is called

the

(A) corium (B8]
(C) adiposé (D) epidermis
e o wad) awdl g weend 8
(A) I (B) sfw

() wigaE (D) uftreiiy

dermis

On the human body the thickest skin is
located on the;

(A) thighs

(B) buttocks

(C) abdomen

(D) palms and soles - )
sy S o T Wi e (e e

gk 7

(A) Wl

() faera

(C) 4

(0) wlfera aik aerEl

The stratum corneum is composed of
(A) melanin

(B8) granules

(C) keratin cells

(D) squamous cells
Ren sty (fen wx) feed @

{ 3

(a) "&b=

(B). ®iwEH]

(€) Fmwfiwd

(D) vy wifdEd =

The sebaceous gland produces

(A) melanin (B) dandruff
(C) sebum(oil) (D) perspiration
Famy TR ey et R

(A), A (8) wft

(© @ (¥=) (D) Wk




o

70.

Which emperor built the Kabuli Bagh
Mosque in Panipat ?

(A) Akbar (B) Humayun

(C) Babur (D) Shah Jahan
gt § shiaed) " ufEse a5 fvfo g
HRIE A T o7

(A). S (B) ®AR

(C) «T=R (D) wmes(el

Who among the following served as

Governor of Haryana for the shortest
term ?

(A) Dharma Vira

(B) Birendra Narayan Chakraborty

(C) Ranjeet Singh Narula

(D) Jaysukh Lal Hathi

frafafies 8 @ Bt g +0 sl &
o shamn & vsue & w9 ° &
a7

(A) R

(B) wig Ao ashadl

(C) wsiia fig w e

(D) wHE wTe gt

Gurudwara Nada Sahib is located in
which district of Haryana ?

(A} Kaithal

(B) lJind

(C) Panchkula

(D} Mahendragarh

Tear e Afew g & g faet o
feme 7

(A), A
(€ =g

(B) wife
(D) WeFTR

ey
R
i .. .
L3
.-\.I-\. o = 8

72.¢ Which religiol

is festival is celebrated

; in the
throughout Haryand, usually 0

" i‘l.,
month of August and september and

is related to snake worshipping ?
(A} Gugga navami fair

(B) Salonl

(C) Shivaji fair

(D} Bhimeswa ri fair

sl e v i R % HEA ° R
afeon 3w @ e SR ST
v 2 3i e wd gon & wafta @ 7

(A). T Tt e

(B) W

(C) Rrawht #en

(0) sfAwd Aew

Who is the Minister of Food, Civil

Supplies and Consumer  Affairs

Department of Haryana ?
(A} Manohar Lal Khattar
(B) Dushyant Chautala
(C) Jai Prakash Dalal
(D) None of these
ghaon % @, afe sl sk
st el 3 s ¥ e ¥ 7
(A) TR W g

(B) &I Shere!

(C). 94 WY TeTe

(D) i & o 7



74. Where are the undulating sandy plains

found in Haryana ?
(A} Gurugram

(B) Rewari

(C) Mahendragrah
(D) All of these

eftamn 1 Seten e dem F8 U 9
27

(A} TTeATH

(B) tarig

(C). WEzTe

(D) ¥g @+l

75, In which of the following dance form

women at times mime a whole
wedding ceremony ?

(A) Daph Dance

(B) Phaag Dance

(C) Khoria Dance

(D} Loor Dance

fraferfiaa # @ Frm e Aeh # whend

Fi-Fi | foams waniz H 5 @
27

(A) BF TH

(B) ®ITIH

(C), @i

(D) |I™

§6) Which panchayat of Haryana received

Nanaji Deshmukh Gaurav Gram Sabha

Puruskar ?

(A) Doharka (B) Jagadhri

(C) Badhana (D) Naraingarh
s 6 forg e W A ST
T T ET TR T 7

(A) EIELEH

(B) e

(C) =H°T=T

(D), TREFig

The city of Mahendragarh was

formerly known as
(A} Kanaud

(B) Sairishaka
(C} Khokhrakot
(D) None of these

Heg'lg WeL HI Ygci
ST ST o7 |

(A) Frg

(B). Stz

(C), EETE

(D) & T =¥ el

FEYH

78, Which district has the highest forest

area in Haryana ?

(A) Karnal (B) Kurukshetra
(C) Panchkula (D) Faridabad
g % vl iftrs 97 & feg B 1
27

(A) ST (B) FHaA

(C)- Tugen (D) Wi

2321



Hﬂr—"

“Chaudhary Charan Singh Agricultural

University was established in which
year 7

dud W $R Rulaww &
el e g gd 7

(A} 1940

(B) 1850

(€} 1960

(D} 1370

Which is a CNG Bus Service of Haryana ?
(A}
{8} Haryana Vikas

(C} Haryana Chalo

i) Haryana Saarthi

shamn € Hes A PR R 7
(A) Efeen dau

(8) wivarn fwm

() =Ran w)

(D) &RErem anefh

Haryana Uday

Which of following is the biggest
power siation of Haryana ?

(Al Yamunanagar Power Plant

(8) Panipat Power Plant

(C} Rajiv Gandhi Power Plant

(D} WYC Hydel Power Plant

Preafefa 4 @ e giaen w1 gl
w5 R R 7

(A) F5nerR gy qa

(8) wrivd fPiga was

(€)' sty el v v

(0) ssrpagel wiges R wan

!
I.

82)

Within how many days birth and death
registration is mandatory in Haryana ?
(A} 10 days

(8} 21 days

(C} 25 days

(D) 30 days

aferon 3 fore) et 3 sfter 79 AR FT
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Arvind Kejriwal, Chief Minister of
Delhi, was born at

(A) Sirsa

(B) Jind

(C) Nuh

(D) Bhiwani
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Where is the Corporate office of
HPGCL located ?

{A) Panchkula

\B) Rohtak

(C} Gurugram

(D) Mahendragarh
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85 Who was titled as State Post of

Haryana ?

(A} Uday Bhanu Hans
(B) Surendra Pandit
(C) Hali Panipat

(D) Lakhmi Chand
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B6. Who is the founder of Bhiwani Boxing

Club ?

(A) Jagdish Singh

(B) Vijender Singh

(C] Manoj Kumar

(D) Jasmeet Kaur

Ferarrt wifeem aevm & semm o § 7

(A), St fie
(8) fadiz fim
(C) I FuR
(D) ot w N

l?’/‘ﬂnw many Panchayat Samitis are

there in Haryana ?
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(B) 22

(C) 7652

(D) 126
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@8 Who s known as "Hadi - @ — Haryana” 7

(A} Sheikh Muhammad Turk

(B) Sufi Saint Shah Gulam Jilani

(C} Shah Muhammad Ramzan

(D] None of these
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When was the water

laboratory van started in Haryana ?
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(A), 2010

(8) 2015

(C) 2020

(D) None of these / 18 & &1d T8
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Jyotisar is famous for

(A) Markanday Teertha
(B) Bhagvad Geets

(€) Brahma Kund

(D) Ramayan
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